Действия с обыкновенными дробями.
1. Вычислите сумму.
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2. Вычислите разность.
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3. Реши уравнение.
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4. Найдите произведение:
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5. Упростите выражение и найдите его значение.

[image: image7.wmf].

49

8

;

4

;

1

;

0

,

4

3

1

8

5

2

6

5

2

1

3

=

+

+

+

а

если

а

а


6. Выполните деление.
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                           Домашняя работа.


Домашняя работа.
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Домашняя работа.
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Домашняя работа.
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Домашняя работа.
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Домашняя работа.


[image: image21.wmf].

9

4

3

2

*

5

)

4

;

3

2

1

3

2

2

*

9

7

4

4

3

2

6

5

)

3

;

2

1

5

9

2

4

9

7

1

10

3

2

9

4

7

)

2

;

8

7

2

0

5

3

7

15

)

1

2

3

÷

ø

ö

ç

è

æ

¸

÷

ø

ö

ç

è

æ

-

¸

+

÷

ø

ö

ç

è

æ

-

+

+

÷

ø

ö

ç

è

æ

-

+

+

-



 EMBED Equation.3  [image: image22.wmf]                         
[image: image23.wmf].

9

4

3

2

*

5

)

4

;

3

2

1

3

2

2

*

9

7

4

4

3

2

6

5

)

3

;

2

1

5

9

2

4

9

7

1

10

3

2

9

4

7

)

2

;

8

7

2

0

5

3

7

15

)

1

2

3

÷

ø

ö

ç

è

æ

¸

÷

ø

ö

ç

è

æ

-

¸

+

÷

ø

ö

ç

è

æ

-

+

+

÷

ø

ö

ç

è

æ

-

+

+

-


_1345534914.unknown

_1345535057.unknown

_1345536029.unknown

_1345536390.unknown

_1345536695.unknown

_1345536378.unknown

_1345535677.unknown

_1345535006.unknown

_1345534596.unknown

_1345534720.unknown

_1345534473.unknown

